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General Marking Guidance 

  
  

 All candidates must receive the same 
treatment.  Examiners must mark the first candidate in 
exactly the same way as they mark the last. 

 

 Mark schemes should be applied positively. Candidates 
must be rewarded for what they have shown they can do 
rather than penalised for omissions. 

 

 Examiners should mark according to the mark scheme 
not according to their perception of where the grade 

boundaries may lie. 
 

 There is no ceiling on achievement. All marks on the 
mark scheme should be used appropriately. 

 

 All the marks on the mark scheme are designed to be 
awarded. Examiners should always award full marks if 
deserved, i.e. if the answer matches the mark 

scheme.  Examiners should also be prepared to award zero 
marks if the candidate’s response is not worthy of credit 

according to the mark scheme. 
 

 Where some judgement is required, mark schemes will 
provide the principles by which marks will be awarded and 

exemplification may be limited. 
 

 When examiners are in doubt regarding the application 
of the mark scheme to a candidate’s response, the team 

leader must be consulted. 
 

 Crossed out work should be marked UNLESS the 

candidate has replaced it with an alternative response. 

  



 

Question 
Number 

Answer Mark 

1  C (1) 

 

Question 
Number 

Answer Mark 

2 E (1) 

 

Question 
Number 

Answer Mark 

3 A (1) 

 

Question 

Number 

Answer Mark 

4 A is the only correct answer. 

 
B is not correct because the mountains are 
not mentioned. 

C is not correct because the station is not 
mentioned. 

(1) 

 

Question 

Number 

Answer Mark 

5 B is the only correct answer. 

 
A is not correct because the number 4 is 

not mentioned. 
C is not correct because the number 6 is 
not mentioned. 

(1) 

 

Question 

Number 

Answer Mark 

6 A is the only correct answer. 

 
B is not correct because no new balcony is 

mentioned. 
C is not correct because no new dining 

room is mentioned. 

(1) 

 

Question 
Number 

Answer Mark 

7 E (1) 

 

Question 
Number 

Answer Mark 

8 D (1) 

 

Question 
Number 

Answer Mark 

9 A (1) 

 

Question Answer  Mark 



 

Number 

10 F (1) 

 

Question 
Number 

Answer Mark 

11 H (1) 

 

Question 
Number 

Answer Mark 

12  B (1) 

  



 

Question 
Number 

Answer Mark 

13(i) (mit der) Familie (1) 

 

Question 
Number 

Answer Mark 

13(ii) (bei der) Oma (1) 

 

Question 
Number 

Answer Mark 

13(iii) Essen (1) 

 

Question 

Number 

Answer Mark 

13(iv) (im) Ausland / (am) Meer / (an der) Küste (1) 

  

Question 

Number 

Answer Mark 

13(v) Regen / es hat geregnet / es regnet / 

regnerisch / nass 

(1) 

 

Question 
Number 

Answer Mark 

13(vi) Spaziergang (am Meer) (1) 

 

 

Question 

Number 

Answer Mark 

14(i) A is the only correct answer. 

 
B is not correct because he infers the 

opposite. 
C is not correct because he is unhappy 
about the starting time of school. 

(1) 

 

Question 
Number 

Answer Mark 

14(ii) C is the only correct answer. 
 
A is not correct because he does not mention 

how intelligent his teachers are. 
B is not correct because he says some 

teachers are strict rather than funny. 

(1) 

 

Question 
Number 

Answer Mark 

14(iii) B is the only correct answer. 
 
A is not correct because he does not mention 

how useful he finds languages. 
C is not correct because he does not mention 

how important he finds languages. 

(1) 



 

 

Question 

Number 

Answer Mark 

14(iv) B is the only correct answer. 

 
A is not correct because he does not mention 
that his friends are stressed. 

C is not correct because he does not mention 
that his friends are hard-working. 

(1) 

  

Question 

Number 

Answer Mark 

14(v) C is the only correct answer. 

 
A is not correct because his friends do not 

discuss homework. 
B is not correct because his friends do not 
discuss sport. 

(1) 

 

Question 
Number 

Answer Mark 

14(vi) A is the only correct answer. 
 
B is not correct because he says that bullying 

happens occasionally. 
C is not correct because he implies that it 

sometimes only rarely. 

(1) 

 

  



 

 

Question 

Number 

Answer Mark 

15(i) E (1) 

 

Question 

Number 

Answer Mark 

15(ii) D (1) 

 

Question 

Number 

Answer Mark 

15(iii) A (1) 

 

Question 
Number 

Answer Mark 

16(i) G / Kellnerin (1) 

 

Question 
Number 

Answer Mark 

16(ii) C / Ende (1) 

 

Question 
Number 

Answer Mark 

16(iii) B / gesprochen (1) 

 

Question 
Number 

Answer Mark 

16(iv) E / klar (1) 

 

Question 
Number 

Answer Mark 

17(i) C is the only correct answer. 
 

A is not correct because she is not an actress 
now. 

B is not correct because is not a film director 
now. 

(1) 

 

Question 

Number 

Answer Mark 

17(ii) B is the only correct answer. 

 
A is not correct because she does not say how 
interesting she finds the work. 

C is not correct because she does not mention 
problems which she has. 

(1) 

 

Question 

Number 

Answer Mark 

17(iii) A is the only correct answer. 

 

(1) 



 

B is not correct because no disappointment is 
implied in the German film industry. 

C is not correct because the German film 
industry is in a boom period. 

 
 

Question 
Number 

Answer Mark 

17(iv) A is the only correct answer. 
 
B is not correct because she does not mention 

the composer of the film music. 
C is not correct because she does not mention 

the actor’s names. 

(1) 

 

Question 
Number 

Answer Mark 

17(v) C is the only correct answer. 
 

A is not correct because she does not say that 
Toni Erdmann works in a music school. 
B is not correct because no love affair is 

mentioned. 

(1) 

 

Question 
Number 

Answer Mark 

17(vi) B is the only correct answer. 
 

A is not correct because she does not mention 
that the film is exciting or informative. 
C is not correct because she does not mention 

that the film is complicated and interesting. 

(1) 

 

 
 

Question 
Number 

Answer Mark 

18(i) Frau Voigt (1) 

 

Question 
Number 

Answer Mark 

18(ii) Herr Ziegler (1) 

 

Question 

Number 

Answer Mark 

18(iii) Herr Ziegler (1) 

 

Question 

Number 

Answer Mark 

18(iv) Herr Pohl (1) 

 

Question 

Number 

Answer Mark 



 

18(v) Frau Voigt (1) 

 

Question 
Number 

Answer Mark 

18(vi) Herr Pohl (1) 

 
 
 

 

Question 

Number 

Answer Mark 

19(a) - (d) Accept any four of: 

 
 (Man) lernt (zu) sparen 

 
 (Man) lernt, dass man 

sparen soll 

 
 (Man muss die Eltern)  

nicht (immer) um Geld 
bitten (Accept fragen) 
 

 Weniger Streit in der 
Familie 

 
 Hilft mit Mathe / 

Matheunterricht 

 
 (Man lernt, ) Eltern sind 

kein Kreditinstitut / 
Eltern haben nicht 
endloses Geld 

 
 (Gute) Vorbereitung für 

das Studentenleben 
 

 Umgang mit Geld lernen 

 

 Verantwortlichkeit mit 
Geld lernen 

Reject: 

 
 

 
 
 

 
 

 
 
 

 
 

 
Mathe hilft mit 
Taschengeld 

 
 

 
 
 

 
Vorbereitung für 

das Leben 

(4) 

 
  



 

 

Question 

Number 

Answer Mark 

19(e) - (g) Accept any three of: 

 
 Eltern verlieren 

Kontrolle / haben keine 

Kontrolle / haben nicht 
genug Kontrolle 

 
 (Man) kauft / bekommt 

verbotene Sachen / 

Zigaretten 
 

 (Man wird) neidisch (auf 
Freunde) / Neid 
 

 (Man kann) kaufsüchtig 
(werden) / Kaufsucht 

(Ignore use of 
bekommen rather than 

werden)  
 
 

Reject: 

 
Suggestion that 
children lose 

control 
 

 
 
 

 
 

Night / Other 
emotions apart 
from envy 

 
 

Es ist gefährlich 

(3) 
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